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Grade 7 
DECODING MESSAGE…                                                              
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Q. Mrs. Dawson has sent a message to her son Pat as a secret code on his birthday. Solve the following questions to reveal the secret code. 
a) [ 3 + {34 – 21 ÷7} × 5]
b) The square root of 298116
c) [image: image5.jpg]cccccc
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d) cube of 21
e) The cube root  389017
f) square of 514

g) [4 x {76 + 2 – 6} ÷ (4 x 2)]

h) square root of 84.8241

i) square root of 150.0625

j) cube root of 175616
ALPHABET DECODER
1. Answer (a) – 137 ------------------------ gives the numeric position of the alphabet
2. 9828 ÷ Answer (b) ------------------------ gives the numeric position of the alphabet

3. Answer (c) ×
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 ------------------------ gives the numeric position of the alphabet

4. Answer (d) - 9259 ------------------------ gives the numeric position of the alphabet

5. 93 - Answer (e) ------------------------ gives the numeric position of the alphabet

6. 264215 - Answer (f) ------------------------ gives the numeric position of the alphabet

7. 57 - Answer (g)  ------------------------ gives the numeric position of the alphabet

8. Answer (h) -1.21 ------------------------ gives the numeric position of the alphabet

9. Answer (i) + 1.75 ------------------------ gives the numeric position of the alphabet
10. Answer(j) – 51 ------------------------ gives the numeric position of the alphabet
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